2

| ‘ r of televisions i
The table below shows the probability distribution Of the numbe )
each house in a community.

What s the p
3 televisions?

A

0.69

‘ 0.31

&
D

0.18
0.09

Televisions | Probability

e T e |
1 0.38 /]
2 0.27__ N \_j’
3 : X i
. 4 o Y
5 Or more 0.13 ﬂi@jﬁﬁ'\

robability that a house in the commu Kg;gtty%w:ll ha(ye at least

""ﬁl‘m

w@:‘f

Anna and Zach each h ve $L§B§?0fmvest Anna’s investments earn a rate of

10.5%, and Zach's I

more money will

(Assume conti@fgq ica undmg.) PQ\’

A 4184 *%‘r:*‘*’

“‘ﬂ' na
B $241 Pm
lost

@ $255 a= (00e¢, )
. (o( -

D | $264 f.ﬂ - wUUe

earn a rate of 6. S%:

-.'i

Approximately, how much

\an :—ﬂ ve«t an Zach whin Zach’ s investments are worth $900?
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A solution’s pH Is given by the function p(t) = -log(t), where t s the
hydronium ion concentration, in moles per liter. A sample of coffee has a] p;-! of
5.0. What Is the approximate hydronium ion concentration of the sample?

A
©

C

D

ONo |24
0.00001 B
0.0001 #0% @?{7 ¢ (DSlve

' Wy
0.001 [O,-;: ‘ mzjwm/i(.c lflL

0.000001 | 6',: ,1({};& '@P{ugm\ m ey

L., gUUﬂ'l 4 %E

F S g

A sequence is shown below. {g’ ﬁ = ﬁ:ﬁf‘”
‘_-!_'_1-'*'5'“ &
1, 0.1, 0.01, 0.001, iﬁboﬁ%@cﬁ

What is the sum of the sequence?

0
S

i

o

\
i - —
.1l ﬁ?ﬁﬂm"ﬁ I'/- [O
10 :
1l &\
"" O T o
13 \-'/1o
1%
:ﬁ'ﬂfn
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5  Which statement is true about the sequence shown below?
0,4.5,12, 225, ...
A~ The series converges because the limit of the sequence as n approaches
infinity Is infinity.
B The series converges because the limit of the sequence as n approaches
infinity is 30.
@ The series diverges because the limit of the sequence as n approaches
infinity is infinity. agfﬁ’*g_g.%
D The series diverges because the limit of the sﬁqﬁ ce g{‘é n approaches
infinity is 30. , %&-
o X/
6

A pharmaceutical company is creatingza.new
disease. The company must collect da
Which would be the best meti% f da

experimental study aﬁf &
B observational stu y %ﬁ"

I=' dlin 5 ”
.-_!4/5‘{' ii#

ggglésterol drug to prevent heart

byAtesting the drug before it Is approved.
collection?

=~ simulation
D
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7 The table below shows the midterm and final exam grades of ten students.

- T -l?
Midterm | 68| 78 | 92| 90|88 |82)| 94|83 | 71| 62 g:ﬁ:u_f']

€, ,\'\,7{[)

®

B
C

B

6, 2,

A

o O

Final Exam | 62 | 77 | 99|87 | 85| 84 | 95| 98 | 72 | 64

wants to end the season with an
least number of runs tQé téa%must score in the final game of the season?

Which camparison between the midterm grades and the final exam grades Is true?

The final exam grades have a higher mean am:l standard deviation than the
midterm grades. |

The final exam grades have a lower mean ancl d% d deviation than the
midterm grades. r 1:*

The final exam grades have a higher mean: t%lbm&standard deviation
than the midterm grades. \ N ééﬁ{'

'.'I
The final exam grades have a lower ﬂea@ﬂp : "Fﬂgher standard deviation
than the midterm grades. 2" B
_E
g 5

iséne more game in the season. If the team
ge of at least'6 runs per game, what is the

59, 11,4,5,8,6, 7, 5.

8 A baseball team scored the fol h‘ip‘rnu ber of runs In its games this season:

2
4
6
8
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g If the probability of giving birth to a boy is 0.52, what is the approximate
probability of giving birth to four consecutive boys?-

A 0.021 61(.%1) (52)(32’)
B 0.062 0B 10
@ 0.073
D 0.130 . .
(R

F &,
10 How many more ways can 10 juniors running t::r;g\eé’ﬁgmsitiofs of president,
vice president, secretary, and treasurer be sel téd when.compared to

12 sophomores running for 5 identical positionéfof cléss répresentative?
i P

. : - Eviiivs S
A 94,830 & Pu( > S04 O @EJ"
‘B 11,628 _

By, @ . )\ 710 -
C 4,320 Iq_,c'g p ﬂ ﬁ—/ ) e
4,248 S o - My

A4
11 A starting line for a h%fgﬁ teatn should consist of 3 offensive players, 2 defensive
players, and 1 goalte d,ﬂ f¥coach has 11 offensive players, 6 defensive players,

and 2 goaltendéFs ffom Which to choose the starting line. How many unique

starting lines captHe€o4ch create?

i

A 132 % .oa i e

B -
@ 4,950 OHL DQF GWcLQ
D 59,400 s - \5¢ ) = U450
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LEASED FORM

12 It costs a bakery $3.50 to make apple pies that sell for $12 the first day they are

baked.

|
ol
|

What is the approximate expected profit per pie for tlﬁ

If a ple Is not sold on the first day, the new price is $8.50.
The probability of selling the apple pie the first day is 75%.
There is a 12% probability of selling it on the second day.

If the apple ple does not sell by the encl of the second day, it is

WG g0

5

rh'l

bakery on the sale of Its

q

017) . 5

donated.
apple pies?
A $5.67
$6.52
‘C $9.57
D $10.02

eV g {%’Jégrg(u) 3.5 (,13)

13  The number of household rnen-ll:nff-.gggh @ﬁving in Cityville homes has the following
probability distribution: _*

Ny 2
X 1 e? zﬁ“ g 4 5 |..6 7 8
P(x) £0.16 | 0.22 ] 0.06 0 04 | 0.02 | 0.01

What is the exp dﬁ‘i‘é of a household In Cltyvllle‘?

ev [(.21)+ 1 (29) 5.1 () +H(.22)
+5(06) 17(.02) +K(01) Ylo(.0%)

2.43

. 2.89
3.17

D 4.50

= 244

v

i
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14 What is the middle term for the expansion of (3 + 3)*%? \,‘{1

A 729x%2 G\’LL\ (ijb(a.)" %

92412

B
| @ 673,596x12 | /P
D  665,280x'2 7y cdS

LR Y TR
e Tk

15 Abby took an 8-question multiple- chalt:e quiz. Suppogé ?I'E?? er probability of
correctly answering any question Is 0.75. What is Abl:i%s proﬁabillty of incorrectly
answering exactly two questions on the quiz? 4 ; . e

(A P=0089 Daoial pek 19, ¢
P = 0.240 qand _ Vﬂf’-”& "’m-?g

B
" @ P = 0.311 v
D P=0.623 b ﬁﬁc( ) ,,ng' ?’) 8|

"i.ﬂ

Y ' ()W‘b LU&W\-:*;
16  Which function resul g} hfi’ftmg‘f:he graph of ¥ =In(x + 3) - 6 to the left 4 units
ﬂ and down 3 units? -_ jﬁh -4 -
A ;
@ "(5{}@3% Y=dn( ARy -

B = In(x - P}%
< y=In(x+7)-3

,D/ y=In(x-1)-3
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17  Which piecewise function Is graphed bel;l
V’H

L bingaw 61\:'\090'\

A +1o
+9
/'\ +8
-
v \]{\ +7 . l
§ sek
¥ P
' 4 g ¢
\*r / + e ,,-? (e
‘ +h v N %ﬂﬁ" '_'____...--"""v go”/{
< L p s = @ ;;f
" : / ' j o iﬁ-» +7 +8 +9 +10 X --\
109 -8 -7 "6 "5{™4 3 2 -1_0%1 Woaf3 +4 +5 16 +7 X
I {5, .—J;u__ﬁﬁi =
-2 i o
L 4 % Pl
3%
a4 14l b
g |
Tl P N e
G, i'*"""" =
PO B . i .
APNA L L
B Niepy
B s 10
% )

Answer choices are on the following page.

R e R e >

s
-

i
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"2 -7 for x <
@ fX)=1"(x+2)*+6 for 5<x<0
I = for x>0
“2x -7 for X <75
B f(X)= -(x_z)z_'_ﬁ for B e 2
x -1 for x20

J'Zx -7 for x <5
& i ={x-246 for S<xs0
WX -1 for x>0
8 "‘—zx . for x <5 |?ﬁ€5§
/B/ f(x):i‘(;{+2)z+6 for - Py ;
Jx -1 for x >i0™%&
Wil-t.s. 5§
2 .
& ""l‘:: Wi
18 A function, f(x), is shown Bélow. .~
e Elg%é,i ;A p-l
' for 0 < x < 2

é "'{'{! n;!.l___ 4
Aﬁ-ﬁf =i x? - 3x +
% ;_'.'-'-*r S

'I\hg.

Of f(x)?

What is the range
A [4,5)
B~ [4,8)

["4,°2)U [2,5)

D) [4,72)U[2,8)
e

4 for2 < x <4 1),,-0%,:;((;.!{\,%‘
212

for4 < x<7

-
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19 A water tower is located 410 feet from a bundlng. From a window In the building, It
Is observed that the angle of elevation to the top of the tower is 42 degrees and
the angle of depression to the bottom of the tower is 25 degrees. Approximately

how tall is the water tower? E
@ 1wn2s= 45

A 191 feet K =141, ‘2~

B 369 feet O 1o {«’L#’L LMO ,

G 448 feet = 3. L
@ 560 feet ; P"”’“f‘a il

&, 2% suo. 5e
A %éﬁ""

20 Given the table below:

[ I

& | 3n| Y5 Br

X132 |44 1216

y [0.5],0 Jk0s5[® |0.5
=

. vy
Which function fits the data a,i%ﬁ_'

Y i
@ y = 0.5¢cos(2x =) %, &
.F ':j.g} .?gl i

s

- ' 608 ( X "Tr)
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21

A Ferris wheel has a diameter of 80 feet. Riders enter the Ferris wheel at its lowest
point, 5 feet above the ground, at time ¢ = 0 seconds. One complete rotation takes

65 seconds.

g“—ﬁ‘" -l."-_
g *ﬁﬁhﬁ sy
G ﬁw,a seconds?

Which function models a rider's vertic%;
'y

ht) = - (.ﬁ ) & 2

SR NCES
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22 How does the graph of g(x) = 0.5cos(2x) differ from the graph of its parent
function, f(x) = cos(x), over the interval ~n < x <=?
5 617 -
The amplitude is smaller, and the period is shorter.

B The amplitude Is smaller, and the period Is longer.
—€~  The amplitude is larger, and the period is shorter.
~B~  The amplitude Is larger, and the period is longer.

| S

23 Two sides of a triangle measure 14 ft and 17 ft, raépe%’t velys#The Included angle is
7 i Appmxfmatefy how long is the third side e fthe ng e?

@ 18.4 ft gy G

. . - ﬂw

B 20.3ft Y X m?}
C  251ft Y yL,'lU. %17 2 2(1)(17) (oS T2
D 30.7ft

y \(S"bcg

24 In a geometric sequeti:E aﬁéj%%@é%nd r= J_ What is the approximate sum of
the first 20 tenms,%fh quence? Geo .

A 339.4

B 8,688.9 ad
C  29,624.9 5 -'-L"\_\(‘CL ) MM@
@ 29,636.9 \;. 0> kA
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25

A bathroom floor has tiles arranged in 9 circles. The innermost circle contains
9 tiles. Each successive circle contains 9 more tiles than the previous circle. How

many total tiles are on the bathroom floor? O = OI +9(n - )
W

A 81 A= d-=9 _
396 ' dg=9+9(¥)

@B:) 405 Sﬂ = %“(%,m} O = 51
D 729 - uos g
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